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I x mwn: Designating an animal for w1pn in utero
a  Method of “subverting” 7122 if he has a n15an and declares “if she births a male it is an n%w” — it is n% (not M132)
i /73 37 permissible to make a D in a M2 before it is born
ii ~ Challenge: from our mwn — only allowed to make it n9y (more intense NWYTP) =Pnot WN>Y (> certainly not n”y1)
1 Answer (7711 27): that is wTpnn jn13; this ruling is nrn jnra
2 Justification: we would have thought to prohibit as precaution against making o after 21 is born
(a) Defense: reason we don’t is that we prefer this risk over having a 7121 that is nTap 31 Mor around
b Method of “subverting” w7y nwiaz: if his wpN is pregnant, and he says “if she births a female it is Dn%w” — it is DN5Y
i and: if he declares “if male, n%; if female, Dn5W” — and it births male and female — male is %Y, female is DNV
II 2 mwn: (continuation of X mwn) —where his animal was pregnant and he declared “951 nR-n% and o'nYw — nap) or”
a if: if she has 2 males, 1 is %1, other is sold to N> 7% and the funds are pYmn
i question: why doesn’t second male take on "7 of mother? (a: this case is > nnna)
b and if: she has two females, 1 is n%w, other is sold to Dn5w »>7% and the funds are pon
¢ but if: she births a DNV or VIPNITIR, no WIPN at all (per »"aw7)
i 272v7s reason: he holds that DwTp MT9M become sanctified at birth (else, nwyTp would apply beforehand)
ii ~ Opponent: reads v. 1 as possibly excluding a nT® 7132 from making w7pn >states "nnnaa”, but he can only do this
with 7133, not other w1 1191 > they are wi1p in utero
III Related discussion (nww "% 0Iny "): if he declared that the 7132 should be "n%p” when majority comes out — which “trumps”?
a  Lemmal: n'y — as each part that comes out is designated for 'n% %%3 OR
b Lemma2: 121 - as each part that comes out maintains its earlier identity of 1122
i (alternative formulation: does NWYTp come onto it or is it maintained?)
¢ Answer (nww "7): same as Ra»R’s question — if he declares that vp% should become qpan as it falls; is it VP> or Ipan?
i Lemmal: vpY — as it has onwn nwv17P OR
ii ~ Lemma2: 9pan — as both poor and rich can take it (broader scope of access)
iii And: »ar answered the question with 7n5n »27/21 "7 equation > must leave as vpy; similarly, must leave as 1122
IV 3 mwn: dispute o1 "3/n™ about mixed declarations (I); the case of the pregnant animal
a  If: he declares that the embryo is an Ny and the mother a »n5w — both are valid
b If he declares that the mother is a Dn%w and the 751 is an n% (i.e. reversed order)
i p”r the 7 is considered 5w oM
ii  pp /7. if this is what he originally intended, his declaration works
1 Reason: since he cannot say two things simultaneously, we allow for sequenced wTpn
2 But if: he changed his mind after saying o'n5w &0, then the embryo is a Dn%w 790 (even M2»7 12 TIN)
V 1y v's ruling in light of our mwn: if he is wan a pregnant nkvn and she gave birth, he may use either one as nxon
a  Reason: the 79 is independent and it is possible to designate one without the other
b Challenge (7:v58 73): in our mwn (n") — o1 is called DnYw 791 — but, 311 15, should be DnHw itself
i Answer: indeed, 17 corrected our mwn to read Dnd>w
¢ Challenge: if a man tells his nnaw that she is his nnaw but her 191 is free — she is able to receive 1NW vi for him
d  Must mean: that yaR T 92 and it is as if he freed a V2 slave (goes free) — else, she can’t receive v3 from her T8 for another
slave 211y "1’s approach has been refuted

e  Suggestion: Ny '7’s ruling is subject to wRin ‘nn: if a man tells his nnaw that she is Nnaw, but 75n free

i 2777 baby is still slave, per v. 2 (019 go with her status)

ii ~ o2pom: his declaration is valid - baby is free
1 Assumption: disagreement is whether 1911 has independent status
2 Rejection: 30y "1 could answer that all agree to independence of 19W; here, v. 2 is a new consideration

iii  Rather: follows 2 min»a about status of viable nrvn 791 found inside at nvnY (whether treated as nrvn or PYIN)
1 Rejection: all may hold 75 to be independent; disagreement may be about when ww7p 7191 become v 1p

(a) Or: may be no disagreement; 1 8n»11 is when he was w»7pn a pregnant nxon, other — naym

iv  Challenge (»27): perhaps 13nv "7’s reason isn’t 11, rather, that one may use wTpn Naw for N1

1 Rejection: 8™, his student, wouldn’t have challenged him as he did if that were the reason
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